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1303
B. COM. FIRST YEAR EXAMINATION
ACCOUNTANCY AND STATISTICS
Paper -1
Financial Accounting

Time allowed: One And A Half Hours
Maximum Marks: 100

PART - A (@5 — 3]) [Marks: 24]

Answer any Six questions. All questions carry equal marks.

BIS & geT Bifory | Tl g & g qarT 8

PART - B (g0g — §) [Marks: 54]
Answer any Three questions. Selecting One question from Any One unit.

All questions carry equal marks.
#Ig AT 777 56T FNTT) Y 5HIE W Vb g9T @57 & TIT TV
7 gl @ s warT &

|

PART - C (gvg -~ w) [Marks: 22]

Answer any One question.

BT TaF Fo7 5T HHorv
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PART — A / wgug — g
Q.1 (1)  On which concept accounting equation is based? State the equation.

WHWW@WW@W%? HHrevor ferfled |

(1) State the excepting in posting from three column cash book,
&A1 T Aavg 98 W @dld B dgeTE gerengy |

(1i1) State three objectives of providing for depreciation.
Heugr yraer & 39 9ewg Saensy |

(iv) How abnormal loss is treated in consignment accounts?
oot wral ¥ eraTRT B W T wrasn By 87

(v} State the formula to determine insurable value under loss of profit policy.
iy @Y efdy dielef § e ¥ Pt @1 g3 faley

(vi}) State any two major differences between receipt and payment a/c and income and

expenditure a/c.
Wi T @R TF -y ARy § P &1 I SRR ISy |
(vii) Define short workings.
s Wiy @1 aReIRE R |
(viii) What is unrealized profit in departmental accounting?
faarifry Sraies & 7 a9 g0 A gar 7 |
(ix) Give journal entry for the following -
Mr. N and Mr. P are equal partners. They admit Mr. V as partner for i— share and for
which he brings ¥ 15,000 for goodwill. New profit sharing ratio will be 6 : 4 : 2
respectively.

'-__Wﬁmﬁrwzﬁmsﬁmélﬁsmé‘rﬁ A & e ww < § 9 =y @ R
_m%@$15000?w%imm~ﬁﬁmﬁzﬁwa 4 : 2 TAT| SFE Ufafte

the rule of Garnei v/s Mmray‘?

Tn%mﬂ%mﬁmrw%?
e ~ PART-B / wvg — §
UNIT -1/ @78 ~ 1

Q2 (a) Dcvclop an accounting cquauon taking five imaginary transactions.

T FIUNS ST oIBR Uh O] THIBIO e |

(b) Explain the convention of conservatism.

wiareem ) yruRr BT TSy |
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Q3

Q.5

OR / 31qdr

Write short notes on any two —
{a) Suspense account
(b) Rectification, adjustment and closing entries
(¢) Accounting standards setting process
fopedl &1 v wfére femfordt farfas —
&) Sg=h wrar
@) uRHS, FHREGT Ul afan wfafkest
@) orEr wE g9 B ufdar
UNIT - 11/ 515 ~ 11
Explain the following in brief —
(a) Causes and objectives of depreciation
(b)  Self balancing ledgers
e 1 darg | wwgngy -
(&) FouR @ BRY UG $Eey
@ e gl wrr gyt

OR / 319ar

Aditya of Ajmer sent a consignment of goods to Bhushan of Bhilwara on the basis of that
Bhushan was to effect sales on behalf of Aditya and to receive a commission of 20% on
selling price. Bhushan will be responsible for all indirect expenses at his end, but the goods
were to be forwarded F. O. R. Bhilwara. The commission was considered to include del
credre commission also.

Aditya sent the goods costing ¥ 25,000 at an invoice price of ¥ 30000. He spent 400 on
packing and loading. On receiving the goods, Bhushan accepted Aditya’s draft for T 15000
and paid the following expenses —

Freight ¥ 1,800; godown rent 500; insurance godown 200; Mis. exps. 200.

He sold % of goods for ¥38,000 and could not realized T 600. Give necessary ledger
accounts i1 books of Aditya and Bhushan.

AT & e § ATarsr & quor o Jwor ur Aol 39 oid ov Yo fF sqwer enfley @ Am W
el SN Hery {3y qew WR 20% @ W ST ) quer ST gy RN 0 whed snesy
el ) T g8 BN U] S AT G et R et gan A ST | wEer § e
e dAR o e aHs ST

anfeed F 25,000 ¥ AN He BT A 30,000 TH AT ey U WA | IR 400 T AT qen
g W WY B e A ATel W B uR anfied @7 15000 T@T ARER v @R f
qerr e eqdl &1 e faar —

el Wrer 1800 ¥, TIeT BRI 500 T, 4y wremr 200 ¥ @ A @y 200 T
W%mﬁs&ooo%ﬁémﬁmﬁﬁaoo?Wﬁﬁ%imﬁmwaﬂg@mﬁﬁ
aMed W SR |
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Q.6

Q.7

Q.8

Q.9
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UNIT - 111/ 3818 — 111
Explain the steps to determine claim under toss of profit policy.
et @ ey drar dtelRf) # ey @ ¥ s e A uler B ae |
OR _/ 31441
Alwar Transport Lid. purchased three trucks @ 8,00,000 each on hire purchase system from
Jodhpur Motors Ltd. Down payment of T 6,00,000 was made. Balance was payable in three
equal annual instalments with 15% interest. Alwar transport write off depreciation @ 20%

on WDV basis. Purchaser duly paid the first repossessed all trucks and after spending
¥ 1,16,000 on repair these were sold for ¥ 15,00,000. Give necessary accounts in books of
both the parties.

arerar wigdld R 7 9 ¢ 8,00,000 TUM g W wv Q Gy Ged & @ fhwmr g g
0 U1 600,000 T AEE Gar Tar| Ay ey O war anffe fewal § 15% et &
[T FHET & | AR FTAUE gl UY HER Y WY W 20% AU ool wwdt 1w 3
gerg Rred @7 e fpar vy wre o et e sparT e faar o e | faswar | et
et @Y TifRE e faRm ¥ e SR W 116,000 I WY BT B aK 9 1500000 I H 99
g1y ¥ verp Rl @ yedet # sravgd Wi AN |

UNIT -1V / g&18 — 1V

What are indirect expenses in departmental accounting? Explain basis of their
apportionment.

vl SrEtea W avce ST gaT 87 SHd SFMI @ AR U PN |
OR / 3@

On 1. 1. 2010 Ram obtained a lease of land from Laxman bearing coal on the terms that a

royalty is payable @ 20 per tonne of output minimum rent is 10,000 p.a. with a right to
recoup short workings over first four years of lease. From the following further details
prepare royalty a/c, short working a/c and Laxman a/c in books of Ram.

112010 T TH N AV § BRI &) W g9 Tal W ug w ol 5 e gew 20 % Ul
ey e B g% ¢y B, wyeaw et 10,000 aifife @ g Ald B ug @ g TR
et ¥ e H BT AOBR Y | AR o e, ey ¥ wrar qur weer w1 wrr e
faeRvl & < @ IRt F FAR PR

Year Sales in terms | Closing Stock in tonnes
2010 230 20
2011 340 50
2012 420 80
2013 640 40
2014 700 60




UNIT -V, 5%1§ ~ V
(.10 Write short notes on the followings —
(a) Treatment of goodwill on admission of a partner
(b) Rule of Garner v/s Murray
ey v e fewfert fofag -
(@) WERR ® YN W I BT o aEn
(@ TR FEW R FT FEm

OR _/ 31441
Q.11 A, B and C are partners sharing profits in 2 : 2 : 1. The B/S of firm on 1.4.2013 was as
under —
3,8 W2:2: 1% U T o e Y AEER B 142013 BT B4 @ g1 e gor
Q;n’ "
Liabilities Amount | Assets Amount
Creditors 65,000 § Cash at Bank 10,000
General reserve 15,000 | Debtors 70,000
Capital a/c’s : Stock 40,000
A 40,000 Building 50,000
B 30,000
C 20,000 90,000 _
1,70,000 1,70,000

‘C’ retires from firm on 1.5.2013 and it was decided as under :

(1)  To reduce stock by 10%.

(i) To increase building by 50%.

(i1i) To provide for doubtful debts at 5%.

(iv) To value goodwill of firm at 20,000 and adjust share of *C” in capital a/c of A’ and
‘B’ who decided to share future profits equally.

(v) Share if ‘C” for current year period agreed at < 2500,

(vi) To pay ‘C’, a bank loan was arranged for ¥ 25,000 on 1.5.2013.

(vii) The amount payable to ‘C” was fully paid on 1.5.2013.

Prepare revaluation a/c and capital account of partners.

152013 ¥ W BH W GG TEUT HI1 ¥ | 89 7 e oty o o~

(1) T B e B 10% § w0 By o |

(if) &9 & 463 50% A g AT Gy |

(i) TRl W 5% P o W WA el 3 e s gy oy | |

(v) wd o =l 200003 we wewifda @ ong &Y e W @ R w9 el g @ gl |
et # e we forn e, o Wl ¥ @ vd w1y awew dien @1 freaa ek )

(v) cave ad @ g @ any @ fRear 25008 gveaw 9 [

(vi) & @B gFHF B Y 152013 B 250003 F 9@ FOT B TIRIT BT 7Y |

(vil) @ Bl ¥ AN BT Yo} YIAM 1.5.2013 B B gt 137 |

el @Iar vd WEeR) @ ol W gy |
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PART-C / @wvg — g

Q.121s agreement of trial balance is a conclusive proof of accuracy of books? If not, why,

explain. :

T TS BT AT AT qRTDT BT Sreprcd Y bl yArer &7 afy wE, @ w g |
Q.13 Bachan and Charan enter into a joint venture to develop a film for government. The

government agrees to pay 3 1,00,000. Bachan contributes ¥ 10,000 and Charan contributes _ ‘

T 15,000. These amounts are paid into a joint bank a/c payments made out of Joint bank a/c

WCre -

T QA R WRGR % (6 U e o S dga aew ¥ and ¥ | W ¥ 1.00,0008 3
T AT | T2 A 10,0003 AT =T T 15,0002 S ) 5 0 @Y wyE §o wr Y e feagr
AT | YRS S W @ e e f5 T -

Purchase of Equipment’s 6,000

Wages 45,000
Materials 10,000
Hire of equipment’s 5,000
Office expenses 5,000

Bachan paid 2,000 as licensing fees. On completion the film was found defective and

government made deduction of ¥ 10,000. The equipment’s was taken over by Charan at a
valuation of X 2000. Separate were maintained for Joint venture, whose profits were divided Q
in the ratio of Bachan 2/5 and Charan 3/5. Give necessary ledger accounts.

TAET I 20003 FHE W B g | wrl gl €9 W frer Syt wid v qer wwew 3
10,0008 ®1 ekl BT | gadioie B =R ¥ 20002 & e W foraT | Wge WEy o e
IS XY TS AT S By 2 /5 (@9 ud 3 /5 (@) B ST # wier ) Aed @
Y |
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Q.14 From the following information given below, determine the claim under consequential loss

policy -

Frey wpaemel @ aftoned) wify dmn dieled & sreafa e o iy feiRa @fdm -

Indemnity period

Date of fire

Dislocation upto

Sum insured

Sales for last accounting year

Net profit for last accounting year
Standing charges all insured
Sales for dislocation period

Sales for 12 months immediately
Preceeding date of fire

Sales for corresponding period in the

Preceeding year (31.5.2013 to 30.9.2013)

The policy contains special circumstances clause, which stipulates for increase in turnover

Q.15 Write notes on the following —

(a) Stock and debtors method in branch accounting

(b} Short workings and its recoupment treatment

e v Ruforgd fafed
(@) e ST @) Wit vg eer Ay
@) o AR w@ gwe) aEh woargER
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T 2,40,000

¥3,30,000

< 1,10,000

(Standard and Annual) by 10% for an upward trend in the sales.
afensdy # fafre uRRefRl aremel & S 90 9 & gwe oxd & 5 Rfy o (@i od
aiffe o) 10% @1 gfy =ewr § gt g ugly & @wor Tl 2




Q.16 X, Y and Z are partners sharing profits and losses in the ratio of 5:3:2 on 31.3.2015 their

B/S was as follows -

gad, 918 wd ofe WiEeR € S 5:32 @ SFUTT ¥ o M wed ¥ 31.3.2015 @) S9@T Rreo

Y PR T —
3 3
Capital Accounts Cash in hand 1,000
X 7,500 | Sundry assets | 31,000
Y 6,000
Z 1500
X's loan a/c 5,000
Y’s loan a/c 2,000
Sundry creditors 8,000
Bank loan 2,000
32,000 32,000

The firm was dissolved on 1.4.2015. The assets were realized as follows -

142015 Y B T UG B 14T GH B welirat @ it e e gd

4 4
April 30 6,250 Expenses 250
May 31 5,500 Expenses 400
June 30 12,500 Expenses 750
July 31 4,500 Expenses 250

Cash received was paid to the rightful claimants. Prepare a statement showing distribution
of cash applying Garner v/s Murray rule (Maximum loss method).

TET TAER B RS BT T R fEmr ) A F7 fewer fRwwy gy fever um gmngy | e
g g ey @t vy #Rg | (@S w1f fafer)
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